
© https://www.k8worksheets.comhttps://www.k8worksheets.comhttps://www.k8worksheets.comhttps://www.k8worksheets.comhttps://www.k8worksheets.comhttps://www.k8worksheets.comhttps://www.k8worksheets.comhttps://www.k8worksheets.comhttps://www.k8worksheets.comhttps://www.k8worksheets.comhttps://www.k8worksheets.comhttps://www.k8worksheets.comhttps://www.k8worksheets.comhttps://www.k8worksheets.comhttps://www.k8worksheets.comhttps://www.k8worksheets.comhttps://www.k8worksheets.comhttps://www.k8worksheets.com

https://whttps://whttps://whttps://www.k8worksheets.comww.k8worksheets.comww.k8worksheets.comww.k8worksheets.comww.k8worksheets.comww.k8worksheets.comww.k8worksheets.comww.k8worksheets.comww.k8worksheets.comww.k8worksheets.comww.k8worksheets.comww.k8worksheets.comww.k8worksheets.com
WS #3

1) 2)

4) 5) 6)

7) 8) 9)

d = ? d = ?
d = ?

d =
 ?

d = ?

d = ?

d = ?
d = ? d = ?

8 ft

2 
ft

9 in

4 
in

12 mm

4 cm

3 
yd

2 yd
9 ft

3 
ft

11 in

6 
in

7 m

7 
m

4 
cm

14 yd

6 
yd

5 
m

m

Example :

4 cm

10 cm

d = ?

Diagonal length =      length2 + width2

Diagonal length =     102 + 42 =   100 + 16

=   116

Find the length of the diagonal of each rectangle for the given measurements. Round your answers to the 
nearest tenth.
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3)

Area of a Rectangle

= 10.8 cm


